RIS 1 H 24 H i fg A J YN #H 109355 9
MEEERED | £ B P -G 2 ATH & REBHEREOHEE o
&
2B R O EHY & F | M- A | HEER | BB | MRS | AT D A OR
B E 7 w
R A WA M M AR 728 PR M2 3 IS #7 N IANES SN AN 41N
AN CEIEE TR
v 54 ERAREHE | 14.11 ] 49.1 5.3 2.5 13.9 2.43 2.13| —
ANy B ALYy R | N EST
2 AMRIE | a4 ARISB
Ay v CHIBRAERE
(REARB T | BBARNART) | "~FERARSHR | 14.11 | 50.0 6.9 3.8 15.3 | 2.83 2,22 —
=R =
ANy V]
R FERA 14.11 | 55.7 7.1 2.9 17.0 | 3.34 2.17| —
Hr=l)—rKG
< HHVESEFER
/\°é~1/417—17y 14.12 | 18.5 3.8 3.0 | 11.1 | 3.06 0.68| -~
BEA S Zrdp RBAL ZdL>
fEHR A FEHGRREH | K ADVEAER
RAFERAILSS A | 14.12 | 15.0 3.5 5. 4 5.2 0. 64 0.67| —
(REAEMRTH) | (RRAR R
< ZHVEAEE
BENATY—F 14.11 | 15.9 3.2 3.5 5.2 | 0.95 0.64] —
< HHVEAEE
HE SBEW | FAFFRACACA | 1411 17.0 2.9 5.6 5.3 | 0.95 0.52] —
@%ﬂé\{ﬂ?&i
i
< HpHVESERE
(RBARRAPER) | A4 FREHA 14.11 | 14.7 2.8 4.8 6.3 1.04 0.70 | -
~ LR =HIE SR
TuA T—HigH 14.12| 22.2 5.2 2.5 4.6 | 0.89 0.56 | —
Ry FSYI TN
PR 2 INRETE
KL s
A b—Fa—Fkbor | 1412 14.7 4.4 4.9 6.7 | 1.25 0.70 | ~
(REAR R\ | (BRARR AT
=RE]
FHAATL 14.12| 19.3 7.2 2.1 5.1 | 0.97 0.656 —
agU— R
A EfREE RS H iEFD
IR IE NS FRAALIL 14.11 | 22.4 5.2 0.4 5.4 | 0.91 0.73| —
T N—=T Tk
(BMmRmET) | RS
RIS
A A E A R A &
KXEtmE T | (REARRARE) E?LE?¢’§E§ZF€EE 14.11| 19.3 2.2 2.7 5.7 | 1.12 0.43] —
(EmBmE) | FxF0KY
s AR
HEMELS F—nA U ER | 1411 17.3 2.7 6.1 6.1 1. 40 0.45| —
(BRSRER 16
ER 54 5 HT)

1 SEROAEREO @) 3, ARORSEORRE CREORBICET S EES A5E 1 H L 3RISEE /TR THS,

E2 RBRFEROBEMICIT. MRLUREHABICTOGFERLTRT,

E3 BROWEOMIZE., BFRRIBIH L TERREH-HE. ZORKOBTER (BXE) 274130, BETRSEALTT,




$%$10935%5

WRk154E 1 H 24 H &b

10

e
HH
I [
N

fii=4

g3
Yo,
O
w40
¥
T 4
—

o o

\
Pt

DHEE
i w®
<oz -
QES R
I 5% 0 B
KK 0K

R

S (B2 HHEFOA)

it

DE

o
=

WEzfrol &N TE oMM

BOWT/NHhNEEZITOEDODKL LITH K
x
=

I 11

O Ji & 1§

{

?E&$ﬁ
DO ADODE

T A5

EagEL
o mie i E Y o o
Q N Ede i R iEE
BEEIPRERE
MHEVT

B Hin Bz

i
i
i
}\ 2.

H
AN

Qe = m
e Pt
%xwﬂﬁ

ERYE o
<@ BpEtpEe Y smmae | g0
HREOKRYRKE R ZUKEK

KEEER D

LETE anER
EIWSH cEFH T
TRIYR
[ - [ 9 -

(4)
(5)
(6)

iy
B
m

=
e

=4
B

J5i

i
21

SR R TN o S i I AR

El
B

FRR 155 H23 HE T

K2

G

B A 7 vk 7

HO =,

Hoy
e
Tol==g-r3
wzo ¥
Jo~ 1w 2
QR
mE KD 6 B
K E IR
W

BT

uig
K&

992
m?

—
=

aguy
f

RN A
KD

Bl

KR
9y 47

s ~—

130

(6)

: ha)

(B AL

28

13

il

¥ 5 RS
Hh
54

il

(6)
27

H

pvi

/S\

gk

MR Jey 3 X

3553

X 4
&

TN




